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We expand the decay amplitude about the center of the
Dalitz plot as:
JACX,Y)I2 =1 + aY + bY2+ cX + dX2 + eXY

Where
X =301 X1 [ 1]
h
v :%- 1 YT [- 10.895]

q:m-Zmp+- m,

But fo improve the resolution we put as Y-variable

Yy =Yent+ Yo) /2




‘Resul‘rs on MC - r'ad04|

On MC_old sample of events:

“Core” resX
“Core” resY,

= 0.016 a.u.
= 0.026 a.u.

On sample of 2763000 MC_rad0O4 events
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| Tests of the fit procedure on MCI
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VI | Analysis on Da‘ral

The analysis has been applied on all KLOE statistic
corresponding to:

N(h® p*p-p°) = 1,213,568
events in the Dalitz plot

dalitz

Entries 1213568
Mean x -0.0003706

Mean y -0.2412
24000 RN Ny [ 0.4506

—. RMS y 0.4319




‘ Background evaluation I
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‘ Procedure of fit I

Until now the fit is done using:

JAX,Y)|I2 =1 + aY + bY2+ cX + dX? + eXY

We found "“low” Pc? -

We decide to fit using:
|ACX,Y)|I2 =1 + aY + bY?2+ fY3 + cX + dX? + eXY

We found an improvement of Pc?




@ | Tests of the fit procedure on Data
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‘ Results on Data I

if | P, a b C d e f
°/° .
0 | 29 | -1.084+0.008 | 0.120+0.009 | 0.001+0.004 | 0.053+0.008 |-0.007 +0.010 | 0.13 0.
-0.013/0 0/0.014 0/0.001 -0.009/0.006 0/0.01 0/0.03
0 | 32 | -1.084+0.008 | 0.120+0.009 | 0.0001 +0.0030 | 0.054 +0.009 y 0.13 0.
-0.013/0 0/0.005 0/0.003 -0.009/0.006 ) 0/0.03
1| 35 | -1.084+0.008 | 0.120 + 0.009 0.054 +0.008 1 0.13 +0.!
-0.013/0 0/0.005 -0.009/0.006 /i 0/0.03
2 | 0 |-1.062+0.007 | 0.100+0.008 0.11+ 0.
-0.013/0 0/0.009 0/0.03
2 | 0 |-1.043+0.005 | 0.140 + 0.009 0.046 +0.008
-0.04/0 -0.02/0.01 -0.003/0.008




|Left-Right Asymmetry I

- +

CNF- N
SN |
N +N 586343 | 585967

|

e+ = 0.3769 + 0.0004
e- = 0.3766 + 0.0004

A = (-0.03 + 0.09) - 10-2

A= (-0.09 + 0.17) - 10-2
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2 | ndf 132.719

p0 0.39 + 0.00

p1 0.0002286 + 0.0006354
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@ |Quadrant Asymmetry I

A\q N, +N;- N,- N,
N, +N,+N;+N,

A, is sensitive to an T = 2 C-violating final state

€5 = 0.3768 + 0.0004
€,4 = 0.3767 + 0.0004

2
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A, = (0.003 + 0.092) - 10-2

Appe= (-0.17 £ 0.17) - 102

388133



@ ) |Sextant Asymmetry I

A N, +N,+N.- N,- N, - N,
N, + N, + N, + N, + N, + N,

A, is sensitive to an I = O C-violating final state

€35 = 0.3765 + 0.0004
€,4¢ = 0.3770 + 0.0004

A, = (0.06 + 0.09) - 10-2

Ape= (0.18 £ 0.16) - 10-2




Conclusions

* We applied the analysis on new official MC production,
RADO4. We found good results: we reproduce the input
parameters and the Data-MC comparison is satisfactory.

"

- We analyzed “all” Kloe data: the analysis signals clear

sensitivity to quadratic slope in x and apparently signals

even sensitivity to the cubic slope in y (never measured
before).

- We measure left-right,quadrant and sextant asymmetries
better than PDG

+ KLOE MEMO in preparation.




